Section A

Answer ALL questions in this section.

1.
The cash book of Capital Company showed a debit balance of $5,360 on the bank account, on 30 April 2011 while the bank statement showed a credit balance different from the company’s record. The following information has been obtained: 
(i)
On 30 April 2011, the following cheques remained unpresented: 

	Cheque No.
	
	Date of cheque
	
	Amount ($)

	1313
	
	18 October 2010
	
	300

	1314
	
	15 January 2011
	
	520

	1320
	
	7 February 2011
	
	2,013


(ii)
Cheques totaling $5,200 were banked on 28 April 2011 but only credited by bank on 2 May 2011, except for one cheque amounted to $950 was dishonoured. A cheque of $370 dated 15 May 2011 received from a customer was recorded but was still in the hand of the cashier.
(iii)
The bank debited the company’s account in error for $870.
(iv)
Salaries to staff are paid by autopay at the end of each month. However, the autopay for April 2011 salaries amounted to $3,400 was not executed until 3 May 2011. The amount had not been accounted for and recorded in the books of the company.
(v)
Tenants deposited rent of $6,800 directly into the bank account of the company but no entries have been made regarding this. 
REQUIRED:

(a)
Update the cash book of Capital Company.










(2.5 marks)
(b)
Prepare a bank reconciliation statement as at 30 April 2011, commencing with updated cash book balance. 





















(3.5 marks)



















 (Total: 7 marks)
2
Selected financial data for Vera Limited is presented below:
	Profit and Loss Account Data for the year ended 31 March 2004

	
	$

	Sales
	248,600

	Returns inwards
	15,200

	Cost of goods sold
	155,750

	Operating expenses
	43,390

	Net profit
	34,260


	Balance Sheet Data as at March

	
	2003
	
	2004

	
	$
	
	$

	Furniture and fixtures (net)
	
	
	18,420

	Office equipment (net)
	
	
	32,480

	Stock
	28,750
	
	26,400

	Trade debtors
	29,260
	
	30,340

	Bank
	
	
	660

	
	
	
	108,300

	Ordinary share capital
	
	
	50,000

	Share premium
	
	
	12,890

	Retained profits
	
	
	15,500

	Trade creditors
	
	
	26,900

	Accruals
	
	
	3,010

	
	
	
	108,300


REQUIRED:

Calculate (to two decimal places) for Vera Limited the following ratios for the year ended 31 March 2004:

(a)
Quick ratio















(1 mark)
(b)
Stock turnover rate














(1 mark)
(c)
Debtors’ collection period (in months)










(2 mark)
(d)
Gross profit ratio














(1 mark)
(e)
Return on capital employed












(1 mark)



















 (Total: 6 marks)
3.
Ng, Chan and Wong had been in partnership for a number of years, sharing profits and losses equally. The trial balance as at 31 March 2011 was as follows:
	
	$
	
	$

	Motor vehicle
	108,000
	
	

	Inventory
	27,800
	
	

	Bank
	1,700
	
	

	Prepaid rates
	500
	
	

	Accounts receivable and payable
	42,000
	
	27,200

	Allowance for doubtful debts
	
	
	1,800

	Accumulated depreciation – Motor vehicle
	
	
	18,000

	Capital – Ng 
	
	
	50,000

	– Chan
	
	
	30,000

	– Wong
	
	
	20,000

	Current – Ng 
	
	
	18,250

	– Chan
	
	
	18,750

	– Wong
	4,000
	
	



On 31 March 2011, the partnership was dissolved on the following terms:
(i)
Chan was to take over the motor vehicle at $18,000 and he was also personally liable for the discharge of accounts payable of the partnership. He later discharged the accounts payable with a discount of $1,200.

(ii)
Inventory was to be taken over by Ng at a valuation of $24,980.

(iii)
Amount received from debtors was arrived after deducting discounts allowed of $1,200 and bad debts of $3,000. Prepaid rates were forfeited.
(iv)
Wong was insolvent and unable to contribute to the firm. 

REQUIRED:

(a)
Draw up the realization account.











 (4 marks)
(b)
Draw up the capital accounts of the partners in columnar form.






 (4 marks)



















 (Total: 8 marks)
4.
The following are the cost data relating to December 2010 and the management of Free Company wants to know more about the company’s cost in a more organized way.
	
	$

	Total material cost
	90,000

	Total labour cost
	71,500

	Royalties
	23,500

	Indirect labour
	38,000

	Direct materials
	55,000

	Indirect expenses
	16,500

	Manufacturing overheads
	56,000


REQUIRED:

(a)
Prepare a statement showing prime cost, total production cost and total cost from the above data.
(3 marks)

The following are the budgeted information for January 2011:
	
	$ per unit

	Direct material cost
	6

	Selling price
	22

	Direct labour cost
	4

	Variable production overheads
	3

	Sales commission
	2

	Fixed production overheads: $13,500 per month
	


The fixed production overheads are absorbed on the budgeted activity level. Budgeted production and sales were 5,400 units. There was no opening stock on 1 January 2011. Actual production and sales volume in January 2011 were 4,500 units and 4,000 units respectively. The selling price and variable costs were the same as the budgeted whereas the actual fixed production overheads were $15,120.

REQUIRED:

(b)
Prepare income statements for the month ended 31 January 2011 using




(7 marks)




(1)
marginal costing and





(2)
absorption costing.




















 (Total: 8 marks)
Section B

Answer ALL questions in this section.

5.
The following is the extract of the trial balance before the preparation of financial statements of Original Company as at 31 December 2010.

	
	Dr ($)
	
	Cr ($)

	Building
	600,000
	
	

	Machinery
	480,000
	
	

	Accumulated depreciation – Building 
	
	
	?

	– Machinery
	
	
	?

	Accounts receivable
	59,000
	
	

	Bad debts
	4,000
	
	

	Allowance for doubtful debts
	
	
	1,400



The following information is related to non-current assets and accounts receivable of Original Company:

(i)
The existing allowance for doubtful debts should be adjusted to 3% of accounts receivable.

(ii)
The company’s building was acquired on 1 January 2005. On 1 July 2010, the building was extended and the following expenditures were incurred. No entry has been made with regard to this extension.

	
	$

	Construction materials used
	85,000

	Labour cost
	55,000

	Installation of lighting system
	20,500

	Furniture: movable desks
	26,750

	Total payment made by cheque
	187,250


(iii)
A new machine was bought on 1 March 2010 and the following costs were incurred. No entry has been made for this acquisition.

	
	$

	List price
	100,000

	Delivery expenses
	20,000

	Repair expenses incurred due to an accident happened during delivery
	5,000


(iv)
Depreciation policy on machinery is reducing balance method of 20% and existing machinery was bought on 1 January 2007. Depreciation rate of building and the extension is 2% on cost. Depreciation is provided on a pro-rata basis.
(v)
It was discovered that a debtor balance of $1,000 has been omitted from the list of debtors and has not been included in accounts receivable in the trial balance.

REQUIRED:

(a)
Compute the cost of the extension and the new machine to be capitalized.




(2.5 marks)
(b)
Prepare the accumulated depreciation accounts of building and machinery for the year ended 31 December 2010.

















(7 marks)
(c)
Find the amount of allowance for doubtful debts and any expense or profit of this allowance incurred or earned against the profit for the year ended 31 December 2010.






(2.5 marks)
(d)
Briefly explain the accounting concept applying to both providing allowance for doubtful debts and depreciation for non-current assets.











(3 marks)



















(Total: 15 marks)
6.

The accountant CC Company extracted a trial balance as at 31 December 2010 but its totals did not agree. An income statement for the year ended 31 December 2010 was prepared and a net profit of $479,280 was shown.


All the errors made in 2010 were discovered in the following year.

(i)
Discounts of $840 allowed to a debtor, H Tong, had been posted to the wrong side of the discounts allowed account.

(ii)
A total of $12,800 paid for wages had been incorrectly debited to the buildings account.

(iii)
A payment of $1,566 to a creditor, D Chen, had been entered in D Chan’s account.

(iv)
A payment for motor expenses of $380 had been entered in the motor vehicles account. Depreciation had been charged on motor vehicles at 10% per annum on cost.

(v)
Returns from customer amounting to $1,999 had been entered in the personal accounts only.

(vi)
A receipt of $940 from a debtor, C Bau, had been correctly recorded in the cash book, but had been posted to her personal account as $490.

REQUIRED:

(a)
Show the journal entries to correct the errors. (Narrations are not required.)



(7 marks)
M Cheung drew up the accounts receivable ledger control account for the year ended 31 December 2010. But the control account balance, $4,560, did not agree with the total of the accounts receivable ledger balances, which amounted to $3,770.

 

Upon investigation, the following errors were discovered:

(i)
The sales day book had been overcast by $640.


(ii)
A sales invoice had been undercast by $50.

(iii)
Goods of $200 returned by a debtor had been recorded in the debtor’s account as $20.

(iv)
The debit balance of a debtor’s account, $330, had been omitted from the list of accounts receivable ledger balances.

(v)
A cash sale amounting to $300 had been omitted from the books.

REQUIRED:

 
(b)
Prepare a sales ledger control account, showing all the necessary adjustments.



(4 marks)
(c)
Prepare a statement to ascertain the total of the accounts receivable ledger balances after corrections.




















(7 marks)




















(Total: 18 marks)
7.
KC Limited manufactures one single type of drink. The following are the monthly budget data for 2011:
	
	$

	Direct labour cost
	268,450

	Direct material cost:
	

	Material X
	61,650

	Material Y
	586,300

	Variable production overheads
	47,200

	Fixed production overheads
	712,800

	Fixed selling expenses
	208,800

	
	

	Selling price per litre
	700

	Selling price per litre of scrap
	60



The budgeted monthly finished goods to be produced and sold are 3,080 litres. Scrap is 3 out of every 17 litres of pre-inspection drink. All scrap is expected to be sold in the month of occurrence.

REQUIRED:

(a)
(i)
Calculate the total monthly variable production costs

(ii)
Calculate the monthly pre-inspection volume

(iii)
Calculate the monthly selling amount of scrap

(iv)
Calculate the monthly variable production costs per litre of finished goods

(v)
Calculate the monthly break-even volume (in litres) of finished goods. (correct to 1 decimal place)





















(5 marks)
However, the management of KC Limited is not satisfied with the monthly budgeted performance for 2011. The following are the two proposals that will improve the company’s performance:

Proposal 1:


Material Y will be replaced by higher quality Material Y* which costs 8% higher than Material Y. Compared with the original budgeted data for 2011, Proposal 1 will reduce the scrap to 1 out of every 34 litres and cost of Material X to $23,656. Moreover, the direct labour cost and variable production overheads will also decrease by 20% and 10% respectively.

Proposal 2:


A machine costing $4,000,000 with a scrap value of $86,080 and an estimated useful life of 3 years, which will enhance automation and lead to a reduction in usage of materials, will be bought. Compared with the original budgeted data for 2011, Proposal 2 will lead to a 18% reduction in the monthly usage of material Y, a 30% decrease in the monthly direct labour cost and a reduction of variable production overheads by $11,051. The scrap will also be reduced to 1 out of every 17 litres. The company provides full-year depreciation on a straight-line basis.

REQUIRED:

(b)
Calculate the monthly break-even volume (in litres) of KC Limited for each of the proposal if the monthly pre-inspection volume is the same as in (a)(ii). (correct to 1 decimal place)




(5 marks)
(c)
If the monthly demand for the drink is 4,000 litres and the company is able to meet demand with existing production capacity, prepare a statement showing the budgeted monthly profit in (a) and the estimated monthly profits for Proposal 1 and 2. (correct to nearest dollar)






(3 marks)
(d)
Based on calculations in (b) and (c), explain which option you would recommend to the management of KC Limited.
















(1 marks)

KC Limited received a special order with a proposed selling price of $2,100,000. The order requires two types of material. Material C is in regular use by the company and the amount of stock originally costs $480,000 and the current market price of Material C to be used in the order is $500,000. Material D is no longer used by the company and cannot be used elsewhere if it is not used in the order. The total amount of Material D in the warehouse is $230,000 and its current purchase price is $350,000. The amount of Material D in stock is only one-third of the amount required for the order. If it is not used, Material D could be sold for $120,000. Total direct wages for the order is $385,000 and total production overheads are expected to be 120% of direct wages. Fixed production overheads are absorbed at 40% of direct wages.

REQUIRED:

(e)
Prepare a statement showing all relevant costs and revenues to find the profit or loss on the order if it is accepted.
















(3 marks)



















(Total: 17 marks)
Section C

Answer ONE question in this section.

8.
The authorized share capital of Dora Limited consists of 1,000,000 ordinary shares at $2 each and 100,000 10% preference shares at $10 each. Up to 31 March 2011, one-fourth of them have been issued. The following information is related to the receipts and payments of the company during the year ended 31 March 2011.
	Receipts
	$
	
	Payments
	$

	Proceeds from debtors
	2,934,000
	
	Payments to creditors
	3,455,500

	Cash sales
	797,375
	
	Administrative expenses
	184,000

	Proceeds from issue of 20,000 ordinary shares
	44,000
	
	Directors’ remuneration
	12,760

	Receipts from credit card companies
	550,080
	
	Audit fees
	30,000

	
	
	
	Tax paid for last year
	57,300

	
	
	
	Insurance
	22,500

	
	
	
	Ordinary share dividends
	50,000

	
	
	
	Preference share dividends
	12,500



Extract of Trial Balance as at 31 March 2010 is given below:
	
	Dr($)
	
	Cr($)

	Machinery
	700,000
	
	

	Bank
	240,000
	
	

	General Reserve
	
	
	130,000

	Accrued Administrative expenses
	
	
	1,000

	Accounts Receivable and Payable
	484,000
	
	245,000

	Accumulated Depreciation-machinery
	
	
	180,000

	Share premium
	
	
	146,000



Additional information:

(i)
Credit notes and debit notes received were amounted to $127,000 and $210,600 respectively. Discounts received for early payments were $9,500.

(ii)
Credit card companies will give the amount net of 4% service charge to the company when customers use credit cards to pay for goods bought.

(iii)
Dora Limited maintains a margin of 20% for all goods sold and the inventory turnover was 5.8 months. Inventory as at 31 March 2010 was $585,000.

(iv)
Bad debts written off during the year was $13,000 and average accounts receivables’ collection period was 2.2 months. The amount owed to suppliers was $473,300.

(v)
Administrative expenses paid for next year was $10,000.
(vi)
$100,000 8% Debentures were issued on 1 January 2011 to finance the purchase of machinery. Debenture interests are to be paid on 30 June and 31 December every year.
(vii)
Tax on profit for the year of $81,250 is to be provided.
(viii)
Depreciation on machinery is to be provided at 15% per annum at net book value. A full year’s charge is to be made in year in which a machine is purchased, but none in the year of sale.
(ix)
On 15 April 2011, the board of directors declared an ordinary dividend of $0.1 per share for the year ended 31 March 2011.
REQUIRED:

(a)
Prepare an income statement for the year ended 31 March 2011. 





(14 marks)
(b)
Prepare a balance sheet as at 31 March 2011.









(6 marks)



















(Total: 20 marks)
9.
Department A and department B are the production departments of Happy Limited. Product X and product Y are produced in department A and department B respectively. Department C and department D are service centers to support the production departments. Happy Limited adopts a margin of 20% on all its products. The following are budgeted data for the year ended 31 March 2011:

The following information about cost centres is available:

	
	
	Dept A
	
	Dept B
	
	Dept C
	
	Dept D

	Indirect wages
	
	$30,000
	
	$20,000
	
	$15,000
	
	$17,000

	Machine hours
	
	30,000
	
	25,000
	
	15,000
	
	10,000

	Direct labour hours
	
	25,000
	
	35,000
	
	
	
	



Other factory overheads:

	
	$

	Heating and Lighting
	2,100,000

	Machinery depreciation
	200,000

	Power for machinery
	400,000

	Supervisors’ salaries
	600,000

	Rent and rates
	4,500,000

	Insurance for machinery
	100,000



Further information:

	
	
	Dept A
	
	Dept B
	
	Dept C
	
	Dept D

	Floor area occupied (m2)
	
	12,500
	
	10,000
	
	4,500
	
	3,000

	Cost of machines ($)
	
	30,000
	
	1,300,000
	
	600,000
	
	400,000

	Dept C costs apportionment
	
	50%
	
	40%
	
	
	
	

	Dept D costs apportionment
	
	40%
	
	40%
	
	
	
	



Information relating to product X and product Y is also given below:
	
	
	X
	
	Y

	Direct material cost per unit ($)
	
	100
	
	130

	Direct labour cost per unit ($)
	
	150
	
	150

	Direct labour hour per unit
	
	8 minutes
	
	14 minutes

	Fixed selling expense per unit ($)
	
	48
	
	57

	Annual production
	
	80,000 units
	
	60,000 units



Factory overheads are absorbed by product X and product Y according to the number of units produced. 80% of the overhead costs are fixed and 20% are variable.
REQUIRED:

(a)
Prepare a statement showing the pre-determined overhead absorption rates of the two products. (Note: Use repeated distribution method for reapportionment of costs. Show fixed and variable overhead absorption rate separately. Correct to 2 decimal places.)









(7.5 marks)
(b)
Prepare a statement showing the unit selling price of product X and Y. (Correct to 2 decimal places) 




















(3.5 marks)

(c)
Define overhead allocation and apportionment and identify one example for each from the case above.























(3 marks)

Happy Limited received an urgent order from a customer for the supply of 1,000 units of product X with a quote price of $225,000. Overtime pay of 50% of normal direct labour cost is expected. Fixed factory overheads will also increase by $8,000. Delivery charge of $3,200 will be incurred to send those finished goods to this customer.
REQUIRED:

(d)
Suggest, with supporting calculations, whether Happy Limited should accept this order. 

(4 marks)
(e)
Suggest two non-financial factors that should be taken into account before making the decision in (d).





















(2 marks)




















(Total: 20 marks)


































END OF PAPER
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